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You must have:
Ruler graduated in centimetres and millimetres, protractor, compasses,
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Instructions

Use black ink or ball-point pen.

Answer all questions.

Answer the questions in the spaces provided
— there may be more space than you need.
Calculators may be used.

If your calculator does not have a z button, take the value of 7 to be 3.142
unless the question instructs otherwise.

Information

The total mark for this paper is 80.

The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.

Questions labelled with an asterisk (*) are ones where the quality of your written

communication will be assessed

— you should take particular care on these questions with your spelling,
punctuation and grammar, as well as the clarity of expression.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all stages in your working

@(—Ierc is part of Mr. Jones’ electricity bill.

Electricity Bill Seelec
Mr A, Jones Electricity for
23 The Street the South East
Lavenham
CO 10 1XY
Date of meter reading | Reading in units o Pt
Jan. 31st 2011 21511192 11.45p
April 31st 2011 2|7]0(|6|5

S e

Find the total cost for Mr Jones’ electricity bill.

Clichc tited = 2706S —25182 =IB 2R uila,
Cost = (873 cechs ((9Sp/aul = 21495855
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Total for Question 1 is 5 marks
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2.

Here is a travel graph of Sidn’s journey from her house to the library and back to her house.
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Time } = - [’4271
Sién stopped at some road works at 09 30 sona'Cf
(a) For far is Sian from her house at 09 30?
...... [Q....km
: (1)
The library is 20 km from Sidn’s house.
(b) ) At what time did Sién arrive at the library?
0:02.
(ii) How long did Sian spend at the library?
..... 2 2. minutes
(2)
Sién left the library to travel back to her house.
(c) At what time did Sian arrive back at her house?
20
1
(d) At what speed did Sién travel on her way back from the library?
o
Spead = d““‘"“ . Fboe s 2 kmm
Somi 2)

Gam..‘ ) 2L n, /A (Total for Question 2 is 6 marks)
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Here is a parallelogram.

!
/ / xcm
v
The height of the parallelogram is x cm.

The perimeter of the parallelogram is 44 cm.

The length of the parallelogram is three times as long as the height.
The slant length of the parallelogram is 2 cm longer than the height.

Find the area of the parallelogram.

e

AT

fe— S 2
Peivcbe, = ‘2.('32:-,-&- ;(_-1-2) oad '?_(4-2¢_+1) = GFca,

oaedr = VY s an g
e = Lo, e = Say

'Otrc_n_ :%"Rx’c = RN :7SCM1

(Total for Question 3 is 5 marks)
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(a) Rotate triangle P 180° about the point (-1, 1).
Label the new triangle A.
()
6
(b) Translate triangle P by the vector [ l] .

Label the new triangle B.
2
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A J

(c) Describe the single transformation that moves shape Q to shape R .

/&eﬂ&&m oo Ce v&:..eﬁ=><-

2)

(Total for Question 4 is 6 marks)
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The equation
X +2=60

has a solution between 3 and 4
Use a trial and improvement method to find this solution.

Give your answer correct to 1 decimal place.
You must show all your working.

4 24 232¢
4 4T b wadf
4 72 foo étf

318 | 60.23¢ fa by Em b, Lo Baksa,.

7 S8 05% fic sl - - =
Rads & 27 A

M-( p(q..c.n.

(Total for Question 5 is 4 marks)

(a) -5<n<g2

n is an integer

Write down all the possible values of 7. 2 S e
4 3,‘211,0,1,
()
(b) Here is an inequality, in x, shown on a number line.
@ )
S T W o R W g T SR
o R L e S B e e T
Write down the inequality. T L £ 5
2

(Total for Question 6 is 4 marks)
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Sally buys 2 tyres for her car.
The tyres cost £85 each plus VAT at 20%.
She has to pay £18 plus VAT at 20% to have the two tyres fitted.

Work out the total cost of the tyres and having them fitted.

(’)_x RS +ISJ><I~2 = £22S. 6o

(Total for Question 7 is 4 marks)

8.

Jonty is going to completely fill an empty tank with water.
The tank holds 2 m”.

How many litres of water does he need?

| Lbre = (800 3

/nu?’ e /mmocu:‘a’

(Total for Question 8 is 3 marks)
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9.  Here is a rectangle.

Diagram NOT
accurately drawn

8 cm

16 cm

Find the length of a diagonal of the rectangle.
Give your answer correct to 2 decimal places.

/@%{g’" =~ [7-888S% cm
= [7-8 9 caq i 'Z,CZQP

(Total for Question 9 is 3 marks)

10. Light travels at 186 000 miles per second.

A light year is the distance light can travel in a year of 3651 days.

How many miles are there in one light year?
Give your answer in standard form.

> 2% dd@\‘] < BLS: 25 doees S
— DReTH 24 xlc;fzn.;,_,le_x

lo R by Hloam
“Q(Totalefor Qu%sti.on 10 is 3 marks)
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11. (a) Complete the table of values for y=x-3x-1

el S e N S

4
p %2 Ll aRE] 2
(2)
(b)  On the grid draw the graph of y = x* — 3x — 1 for values of x from -2 to 4
3 _
X i
1
\
A
7]
F i
f x
—3 T4 =1 E i 2 / i
R s
(2)

- (©) Solve the equation x> —3x =4

2% -22%-¢ =O

@“@(kﬂrl) STATC L (2)

(Total for Question 11 is 6 marks)
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12.

ACQ and BCP are straight lines.
AB is parallel to PQ.
AB=2cm.

AC=3cm.

CO=12cm.

CP=10cm.

(a) Work out the length of PQ.

Diagram NOT
accurately drawn

A PO & gidar o cBA, rkbel 1B abe k€ 5o

Ea-o(h—«-—}»c&\. -SQ. A—C_-—-%-C..&
P& = (L&)x2a = #x2em

o7 AB _ P& T e
£, - £ resnek

= Bc .

(b) Work out the length of BP.
ek QC-., £ BC

BC = (%) XlOowm = 2-Seu,

BP = 2-S+o0 = [2:Ku,

..... g cm
2)
3)

(Total for Question 12 is S marks)
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13. Here is an isosceles triangle.

10 cm

50°

Find the area of the triangle.
Give your answer correct to 3 significant figures.

Arca =< ’-Cz’:a.rQSd'-..C

/ =1
= /4 *¥IoXIO% St go

géawqflfajo@gu_rcj

ooooooooooooooooooo

(Total for Question 13 is 6 marks)
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14. Sally buys a car for £4900
She saves 30% on the original price of the car.
What was the original price of the car?
> P = [ P l’
Sle « P 8 70T s fe mﬁ(‘ﬂ”( el .
P = 900 |

P = 94T -_._.f7D£>D
©.7

(Total for Question 14 is 3 marks)

15. The volumes of two mathematically similar solids are in the ratio 27 : 125
The surface area of the smaller solid is 36 cm®.
Work out the surface area of the larger solid.
VOL-uMe s (‘ﬁﬂ&z , Gerea o %&z
A gl L8

%/
Sw@—cz Gca = ‘ZS) -?K_ 2l ca.

—

27

= %?Ex 3‘6&:‘

= (o0 (a..z

(Total for Question 15 is 3 marks)
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16. The length of a rectangle is 6.7 cm, correct to 2 significant figures.
(a) For the length of the rectangle write down

(1) the upper bound,

(i)  the lower bound.

The area of the rectangle is 26.9 cm?, correct to 3 significant figures.

*(b)  Calculate the upper and lower bound for the width of the rectangle.
C’{PPV éw 'bQ[‘ Gecra = 26. CiS‘g,"‘
l\:l_‘?v éat-“v(‘ L te _— 2 6 o gs- ml

: A l e 2L-9S
G érc._.,,( oé.f JZ e g 75 i) e i
PP (" .rm{.’(e.)ﬁﬁexd'ﬁ 8- 6 Sca,

= an o $OTLLT e
L""—J‘-c/ boccad @ s f_,_);fg = Swallestare= L ek 8BS

N 4 €7

449 ’
= gffﬁ 3‘?77Ca..~ 3)

*(c)  Write down the width of the rectangle to an appropriate degree of accuracy.
You must give reasons for your answer.

‘S&"":{;{j-‘ﬂtﬂlé-“aj Sy e o dl co.. b >4 .aSca,
O2ic campsl ik tFu 4.0cc, A 2 Sy . LFd REGEAT 2
4—“:" é ée 4‘£a.¢

Ehm&,&% Q ;ééag;d > 208 rfé..-.._jé o pfaén-%
"FM/ X o035, 6%&@-—@&7% y. -0 au

Jeoea apt r....ceé/ Q;—JQ;_-“/‘-’:H ¥ A
by accerras ] (Total for Question 7 is marks)

2
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*17. Explain why any straight line that passes through the point (1, 2) must intersect the curve with

equation x> + y” = 16 at two points. -
1 - P y e -l:i_! = 4' e ﬁe_-e?un.é’au
1 &l:-o. n:.."/bp-ej ra;.ch;::Sq}

Cﬂu&t.so €Ly &a G,@'r‘.u.

g it
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(Total for Question 17 is 3 marks)

18. Solve the equation
R

L&a"ﬁ.ﬁc' x+3 x-3 x*-9
= G _ B(eR)-FH3%t) Ba—9-Fu—2
+2 - e
prd -3 (7"{"3_) (_&_.3) 742"‘?

-3 -2
oiy —_—_ ..S:k_ j-cq.n«_e aQQ“an«.c....“'c-.&G
xX-9

L Sl tcen etz s

= —3.5 X e
(Total for Question 18 is 4 marks)

TOTAL FOR PAPER = 80 MARKS
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